Of & A & &E A
20158 =& 1 3 Zet3
SHL
S0 =2XEA
sEZ M =35 (Sl & &)
SA-EHB - BAEH) - NRAY - BES 0] &b 2 p/E-T Hl D2
)y 17,676,706 16,929,153 747,553
= 1,488,682 1,503,558 A 14,876
X 600,000 600,000 0
J| 3,811,113 3,427,392 383,721
=) 2,115,957 2,041,193 74,764
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O =3 A Z & 30,000,000 30,000 10,000 20,000
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O XNESetd
) 13,720 9,800 3,920
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01 g2t tEMHEE 108,000 0 108,000
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= 234,288 208,676 25,612
& 37,527 33,786 3,741
Al 87,565 78,836 8,729
01 M= 4l 359,380 321,298 38,082
O Jisgy 457 Z 3 359,380,000& 359,380 321,298 38,082
= 234,288 208,676 25,612
< 37,527 33,786 3,741
Al 87,565 78,836 8,729
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= 123,377 116,813 6,564
< 22,614 20,645 1,969
Al 52,767 48,172 4,595
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< 11,815 9,846 1,969
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= 240,000 400,000 A 160,000
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Al 42,000 50,000 A8,000
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